FM3433DW-SC-2PK

000

EASY DIFFICULT

17



207



37



417



FM3433DW-SC-2PK

2 3 4 5
< e
Chair Back Cushion Seat Right Leg Left Leg Stretcher
1pc x 2. 1pc x 2. 1pc x 2. 1pc x 2. 2pcs x 2.
A B C D
@ O @@ )
Bolt @5/16" x 1-1/2"  Bolt @5/16" x 2-3/8" Bolt @5/16" x 3" Lock Washer &5/16"
2pcs X 2. 4pcs x 2. 4pcs x 2. 10pcs x 2.
E F G

I‘ @ @2

Flat Washer @5/16"x19mm  Allen Wrench 4mm  Wood Screw #4 x 1-1/2"
10pcs x 2. 1pc x 2. 4pcs x 2.

5/7



ASSEMBLY INSTRUCTIONS

1

Part@x 1pc
Part@x 1pc

Hard Ware@x 2pcs
Hard Ware@ X 2pcs
Hard Ware@x 2pcs

~/

2

Hard Ware@ X 4pcs
Hard Ware@ X 4pcs
Hard Ware@x 4pcs

6/7



ASSEMBLY

3

Part@x 1pc
Part@x 1pc
Part@x 2pcs

Hard Warex 4pcs
Hard Ware@x 4pcs
Hard Ware@x 4pcs
Hard Ware@ x 4pcs

~/

~—————

717



